A JOys 1 2 3 4 B £52
1 & H-FH(SIN) 2 @ @ 6-5=1 1
2 |EE-)S(SFEE) @ @ 0 4-6=—2
3 |[tE#-HH(SHE) 3 0 3
4 HARE - R A (— & - RINKI) 1 @ @ 5-4=1 9

B 7AvY 5 6 7 8 JIE 5z
5 ER-AH(—E) @ @ @ 1
6 & H - 52 (SIN) 3 @
7T |BA-ZH (BHET) @ @ 2
8  |Fh-BH(SHEE) 0 1

c Jaysy 9 10 11 12 B £52
9 AE-IE (RETY-—ED) @ @ 0 2
10 FH- = (-WAZ>7 -RINKI) 1 @ 0
11 M= -BH (SINYST) 1 2 1
12 WE-BR (SHEBIZD) @ @ @ 1
A1 B1
= H-F @ @ |BEPF-AFH
(SIN) (—=)

@
B2 A2
B $t-% H @ @ ) 0w ER A
(ERHT) 0 (—& -RINKI)
c2 0 C1
aaE- & WS- M
(BETY-—ED) 0 2 (SHFBHFT)
2 B 20 3L B3I
= H-FH# B P-4 # B & H W EE [
(SIN) (—=) (E28T) X/ P




